&Ll uam‘ﬂ G@nm&@&&naﬂ on gl sllemm—elenL s6m

sunemevITwILD (1gs16tmeTendl) BLSgitb
ienauieonsar wrdlf efleorm—eflenL_sem

1. The Principle of fuse wire is
a} Oersted Experiment
b) Amphere's Law
c) Ohm's Law WWW. tnpsctricks.com
d) Jule's thermal Law
e o @iy Hdgmid
a) puwien G Gergenew
b} <yttt afE
c) @b oiF
d) e Qaiiu 89
2. Choose the correct statement
1) Mass of the body is the total matter
content of the body
2) The unit of mass is Newton.

Fflwmen &pPenewd Cxis

1) Gunmeflsr Beom ereiriigy Girpeley 2.eirar

LIEIGIT(BEIT BjeTay S,
2) Beopalcir gjevs By 't ebr gy,
a) 1wl b) 2w Gub
¢) Qoesr®b d) @ ggnddiens
3. Consider the following statements
1) It protects Biological specimens
2) 1t helps in curing wounds

3) It prevents freezing of water in coolants .

of motor vehicles,
Above statements is about
a) Methonal
b) Acidic acid
¢} Formic acid
d) Ethanol
8Cpp adrer mpmiseer Sy
1) euffuluer wr@hseoer LmGaTsRns
2) STwRSSeT GERTLTSGRNS
3) amseTmsefisy @efiraliimersefisy
snafic »eopains SHEENS.
GuoGev @i _LisBeug

a) Guogpenmed b} HPigd gpleuth
¢) wmirlBs ppBevib  d) erggennd
4. Which one of the following is carbonate ore?
a} Bauxite b} Galena
c) Marble d) Hematite
8Cp aereramfiey ergy smirLQGent. Smg?
a)  Lirdenemi. b) @elesrrr
c) tomiifer d) Gamwent .t
5. Choose the wrongly matched
Nature of Soil Plants
1) Basic soil ~  Citrus fruit
2) Acidic soil - -Paddy
3} Basic soil - Paddy
4} Acidie soil - Citrus fruit
BUDTS @u:r@a 2.eirem (GenesTenis Gﬁrhs
1) s7p sereno - Bulgew upd
2) Sfed sebrevin - Gpe
3) sapd sewrentd - G
4) apfevd geiremo - Bilgev uph
a) I ipgneh 3 b) 2 wngnd 4
¢) 1 whpno 2 d) 3 whpub 4

12,

13

14.

15.

16.

17.

8.

In Ocean Thermal Energy Conversion
Plants, the vapour of which gas is used to
run the turbine

a) Water b) ethanol

¢) ammonia d) benzene

& Qaniy e 2 HusPuies L rewLisirsener
Quds 2 gapb sure)

a) #ir ‘ b) erdmenrime

¢)  Cuorrefluir d) GusinFer

Light enters into the eye through

a} Cornea b) Retina

c) Iris d} none of these
weslly sevorenflct ol LGS

a) smieflumr b} Gpiigewm

c) syhew d) @8 ggnbivensv
One kilowatt is equal to

S5 RCevrreunt.. ereiLIg e1BDE FULTED?
a} 10 et b} 100 euril.

c) 1000 euri. d) 10,000 sumi..
Which of the following do not affects the
radio activity?

1} Temperature

2} Pressure

3) Electric and Magnetic fields
8Qyp serereupet sBMuibsseng LirBasTHa
TSl

1) @anib

2) Sipbs

3) flshr wbgnb s e

a) I wou.@ub b} 2 wil@ub

¢) 3 L@ d) syemewdigith
Which of the following acid is used to
preserve food?

a) Tartaric acid b} Carbonic acid
¢} Benzonic acid d) Sulphuric acid

eemrapts Guin e ssner LISUNIRSS Lmsi b
Sflevid

a) e afis spfend

b) eriuTells b

¢ Guersmiis opevid

d) sbss opfend  www.tnpsctricks.com
Match the following

A} Washing soda 1} Nax CO3

B) Baking soda 2} NaHCOs
C) Bleaching powder 3} CaOClL

‘D) Plaster of Paris 4} CaS0a V2H20
Qm s

A) ewvena Gsmim 1} Nag COs

B} eemwwev GFoim 2) NaHCOs

C) sFevenaug girer 3) CaOCh

D) wnrifen snBg 4) CaSO4 Y2HA0

A B o D

a) 2 1 4 3

b) F 1 2 3 4

c) ‘ 2 4 3

d} 2 : 3 4

Choose the wrong statement
1} Vitamin B-12 contains mineral Cobalt
2) Metal present in Chloroplast of green

wslarmt 1o V3 ssmenn it s vy
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1.

RGNy S T S 2

4) opflend geireonn - Bilpew uypbd
a) 1 wppuh 3 b) 2 wHprh 4
¢} 1 whons 2 d) 3 whpnb 4

Choose the correct statement

1) In Hydrocarbons, alkines having

carbon-carbon triple bonds

2} General name of Ethaine is Acetylene
#ifren mpfevend Gafra

1) eogu GororaniysstraefleosLich ~mm LG
@en_ G gpinlenewring Gl sdsre enou
HJCVGH ST 6T .
Fgengen  ererLi@en  Gumgys  Quarr
MNP gl .y th.
a) 1wl b) 2wl
¢ @@ d) @8 gsnfden
Choose the wrongly matched
Acid Present in
Tartaric acid - Grapes
Oxalic acid - Tomato

c) Acetic acid - Curd

d) Malic acid - Apple
HUDTS @urrm@ 2.6rar @mm Czrras
cmire g gyifleuth
pydenrelds yfed
o S ys spfed
d) toreld gpiflend

In Flemings Left Hand Rule, index finger
indicates
a} Electricity
b) Conductors force
¢) Magnetism
d) Neither
et Al afPuiet & Halped cponth
BTt 3y

a) WenGemmi s Pews

b) 38 Quiigh aleos

o) by yesBerBens

d) @8 ggniiee

Electro Magnetic Induction was invented by
a) Fleming b} Volta

c) Ampere d) Faraday

Beir  ZTES SreiwL_ene st psant

a) themibifn b) Qeurs.mr

¢) SpbiSunt d) umpGe

Which type of cooling system is required for
Bio-tech medicines?

a) Hydrogen b) Oxygen

c) Pharmalyn d) Nitrogen

209 Qemfs pLusBed surAssILED
SO 208 wpgimener @al Qi (psop

a) soRpgger b) gydedigelr

¢) wrieSeir d) ewpL. Tt

Choose the correct statement

1) Hydrochloric acid is chemically more
reactive than Acidic acid

2) Acedic acid is an organic acid

&usrrest a.pm,s Cuira

1) eoan Grr@Qermfis sufend S8y

HNiBwdens afi. alenenBpeir SBath

GuaresorL. gt

2) Py spfevid fio syflevid H@Lb.

a) 1w (G b) 2 w@w

¢) @uamBu

2)

a)
b)

a) -
b)

suli
Sy Lnfer

d) @B ggubiens

&n6laibl, ble

&N 0. 6].61610

18. Choose the wrong statement
1) Vitamin B-12 contains mineral Cobalt
2) Metal present in Chloroplast of green
plant is Chromium.
sapren spflemend Gsis
1} ewan's 1feir  B-12@Q60 zewen  2Gavrsd
Garinrenn..
2) srewsBi udensuibBey erer » Georsib
&Grmienb,
a) 1w @i b) 2wl @b
¢} Quem@ d) QP egindieme
19. Which of the acid forms in the test of
alcohols?
a) acetic acid b} Ethanoic acid
¢) Pharmic acid d) Puetaric acid
Slsbaanrisener st gaph B gensruiics
2 (HeUTEiD  Syifeuth
a) Pugs spfevid b) erdsaTTuis syfeuid
¢) wummifis opfeuh d) Cigyl.Msé spfeod
20. Almageisa
a) Space Shuttle b} Space Station
¢) Telescope d} Rocket
2uGiogy erelTLIg] .
a) eflciraeutd www.tnpsctricks.com
b) afclrGah Hevevusth
o) GarealpmsR
d) erejaenssst
21. ;H? + (H® — 2He* + On! + Encrgy. This
reaction denotes
a) Nuclear fusion reaction of Hydrogen
Bomb
b} Nuclear fission reaction of Hydrogen
Bomb
¢} Nuclear fusion reaction of Atom Bomb
d) Nuclear fission reaction of Atom Bomb
1H2 + 1 HS — 2Het + On! + guinsd. @)hs
aflewenr T e G
a) PRI GBENTIYG I FIUIEST
Blemeurey afnssr
b) PRD o Gy SgEisa Lere)
aflenesr
<) g Gy gbaE Gevenra
aflewesr
d) e Gehmgslr igmdkan tlera; alener
22. The principle used in clectric generator
a) Amphere's Principle
b} Fleming's Principle
¢} Farade Principle
d) Volta Principle
Beir @uriafufich 1wiciLiGud Sasyenh
a) dunr sdgenbd
b) iSertfn sdgenh
¢) wurpQGe. Bdgmnb
d) Qaurévr.m sdgiaud
23. Choose the correctly matched
1} removal of electron -~ oxygenation
2) addition of electron - reduction
3) removal of electron - reduction
4) addition of electron - oxygenation
& QuUITEsS 2erergl e’
1) eredcgrer fdsb . gybafnler o
2) erewdkipgmer Goriny - pkefiger HSmD
3) e gmew Bésid . defger GRssh
8) srevdkpgirer Geving - opjdafgnCen dHonh
a) I wppd 2 b) 2 whgpnbd 4
¢) 1 whpubd 3 d) 2 whpd 3
m www.tnpsctricks.com
¥ 2 3 4 5 6 7 8 -
+] A o e c c C C B
10 138 |12 113 114 |15 |16 |17 | 18 |
D £ L+ A (4 o e B B
19 20 |21 [22 |23
B 8 A C A

HOT68)IET.

-Qgm_(mib...



Tnpsc 1
Typewritten Text
www.tnpsctricks.com

Tnpsc 1
Typewritten Text
www.tnpsctricks.com


24.

25,

26.

27,

. Who said that the atom is indestructible?

29.

30.

SBIPHIH Siral uesflwnent Careaurenemmutd (1gsremsendl) BL_Ggio
Sienen g G sEmd@ Lweneaflé@ auenadleoner wrlfl eflenm-eSlenLsen

10th UESTIONS
Choose the correctly matched
Eye defect Rectifying lens

1) Myopia - Convex

2) Hypermetrophia - Convex

3) Hypermetrophia - Concave

4) Myopia - Concave

Ffwirs GQumess »drergy ag?

st eoaller menpLnr (B afl Qadmph
Qeveir

1) B di carirenal - @al Qexiren
2) ST LTiene - el Gesire
3) S unTreel - @& Qeveirai
4) Wl wrirenes - o Qevsiraiv

a) 1 wppub 2 b) 2 wppnd 4
c) 1 whgnb 3 d) 3 whpud 4
How mmuch work is done in moving a
charge of 5C across two points having a
potential difference 10V?

@5 spfe 10V Beivewapds Caugyum Peren
G jereliseflen..Gui SC iBebrgnyt’.1.. Song
poi g Qodmitn . Gasned

a) 15 goe b) 5 go

c) 50 groe . d) 25 goe
Which of the following is acts to reduce the

temperature of the spring in MRI scanning?
a} Liquid nitrogen

b) Liquid Hydrogen

¢) Liquid Sodium

d) Liguid Helium

MRI ovGaeslls Qamfisd g udPed sids
speatier Glalliugeng @eonud Gledm g

a) Bre eopggen b) Brer eeam g
¢) By Crrywid d) Bre abedud
Which is used for making Vinegar?

a) Ethanol b) Ethanoic acid

¢) Methanol d) Formic acid
afeflar 2 HusBuies LseiriiBorgy
a) eIgpeumed b) egsewrnuis splexd
¢) Gugsermev d) wunitilBs epBeotd

a) J.J. Thompson b) Nielsbhor
c) John Daldon d) None of above

DIFPhaGT  STCH LT terds (g Gene
oTou G dngRtseunt

a) L) gmbsew

b) HeGumi

¢) ETErL_TevL e

d) @eursais wimgmlsens

Which of the following is a weak acid?

Gy sdraraupiics eselenio @enpHS HjLbeud.
a) HNO, i T

¢) H:504 d) CHsCOOH

The basis of classification of clements by
Mosslay is

a) Atomic Mass
b) Mass Number
c} - Atomic Number
d) None of these
Gumrevle seflodisener ergew . opgLien_ufe
aenaLILRaBen iy ?

a) @iBeon

b) Heop sreie |

www.tnpsctricks.com

38. Find out the wrongly matched pair

Mode of Reproduction Species
a) Bisection - Bacteria
b) Budding -  Yeast
¢) Budding - Fungus
d) Bisection Protozoa
souprs GuirmsE ».erer @mmaw:;ﬁ Gapira
Qe Guinds_qpeon @naifaer
a) Heramge - urdedur
b) @GLbLBE - FeL
C)  Siapibiped - s ad
d) Rereurge - Gl GLr Gareur
39. In Human Brain,sleep center is situated in
a) Pons b) Carpora quadrgemina

¢} Thalamus d) Medulla Oblangata
apewaruiet  gpbasPDhenes  ewownb

Sjentng g e LD
a) umeren
b) @miGumrgr GariMGlemiBesrT
) @evmiosv 3
d) e www.tnpsctricks.com
40. Match the following
Disease Hormone
A) Goitre 1) Thyroid
B) Diabetes 2) Langerhans of Islets
Mellitus
C) Dwarfism 3) Pituitary Adeno
Hypophysis
D) Diabetes 4) Pituitary Neuro
Insipidus Hypophysis
Gl i gis
G ot Gunmer
A) ST 1) eogomi®m
B) L wirLneew 2) oo e w6
C) Gererggerene 3) gp o M opg Gewrr
a3 iment e
D) L wiTLneGv 4) tigu e A BuyGpr
Beirati _eiv eORBLITen 16
A B Cc D
a) 1 2 3 4
b) 1 2 4 3
c) - 1 3 4
d) 2 - 4 3
41. Which of the vitamin prevents Pernicious
Anemia?

Quiiefauey gos OComemsenis @ewrom&Eib
enay’ 1 18l ergy?
a) vitamin B b) vitamin Be
¢} vitamin Bi2 d) Vitamin B
42. First Cloned species was achieved in
@Genirealls (penmuiich ({Apsed o.ufifl
2(HUTESLIN L B
a) 1993 b) 1994 «¢) 1995 d) 1996
43. Match the following

Vitamin Discase
A) Vitamin A 1) Nyctolopia
B) Vitamin B: 2) Beri Beri
C)} Vitamin C 3) Scurvy
D) Vitamin D 4) Rickets
G i g%

A) evant Bew A 1) Ba&GL rGemtRunr

B) emau i ihewr By 2) GPGiad)

C) ewan i Ber C 3) evsial

D) evauiifeir D 4) M e
RasiainC Wb
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32

33.

35.

36.

Chemical name of Blue vitriol is
a) Copper Iodide b) Copper Magnetite
c) Copper Siderite d) None of these
37.Types of stem cells is
apond Qurdimalelr aenssdr e Gsener?
a) four b) Two
¢) three d) One

. Which of the following is not a Halide Ore?

Choose the correct statement

1) Copper pyrite is a important ore of
copper

2) Copper does react with basr

a) 1 only b} 2 only

c} Both d) Neither

gfwren spfenens Cais

1) srownt el sTRgSSer (psBuig
SN

2) arlnnl soyisen i ofemenr Lyfugth

a) 1wl @b b) 2wl

o QuenGid d @ gl

Atomic number of Carbon?

aiririceiels pgwy erevy ?

a) 4 b) 6 c 8 d) 12

. Which of the following is has fruit smell?

a} Methanol

b) Vinegar )

¢ Easter www.tnpsctricks.com

¢} Atomic Number

d) None of these

GurenGe sefiotisenar THE g LiLenL_ui
ausnaIuB e ?

a)  sgwblenn

b) Mewp ereimr

C) -PlEsn eTeter

d) @Fd o guldensy

a) Hematite

b) Cryolite

¢) Horn Silver

d) Rock Salt

8Cy esrarampisy gl Ganme® HTH sjevaw?
a) Gamoen:. il

b} Bong s swent

¢) aprier Seoant

d) urenp 2Ly

d) acetic acid
ypaanificr wemh Qamen. & o’

a) Guogserme

b) el

¢ sTeinL_it

d) cﬂa‘ﬂ—ﬁ m"l&\’lb

Gallileo is not famous in the field of
‘a) Astronomy

b) Maths

c¢) Physics

d) Chemistry

s060Cwr e  geopuied. Bplny Gupmwra
Bimdaaicrensy ?

a) swradluch ey

b) senlign
o) Buipiue
d) CauBuflussh

44.

45,

\ILIT (Inch il

el L 06t @epuT B Grirds
A) eman i tfer A 1) B4GL Genmuir
8)  ewau i ifeir By 2) GrefGud
C) epaurifar C 3) evsiel
D) ewaniifeir D 4) Adsiilew
KamgiaC Wb
@) 1 a4 3
b) 2 1 4 3
g 1 2 3 4
e ) - By

Which one of the following is not a bacterial
disease?

a) Cholera -b) AIDS

¢} Tuberculosis d) Plague

8Cyp oerereupiicy  erg  ardue Cwerus
Beven?

a) &TegT b} GTHIL G

o) G@mepCpmds d) RGerd

Which of the following is a Neurohypophysis
Hormone?

8Cyp earareupBeo argr ByGum ewanGumreuBen
eyrirGuomeit ?

GG

a) STH b) FSH ¢} ICSH d) ADH
-46. Match the following
Sanctuary District
A) Vallanad 1) Thirunelveli
B) Mundanduri 2) Tuticorin
C) Mudhumalai 3) Nilgiri
D) Kodiakkarai 4} Nagappattinam
Glusrr (ih s
: [T GRTIT SOUILD DML L LD
A) esapTE 1) BwGpataed
B) wpewLfigieon  2) SISJEGH
C) ¢pgiosney 3) Pl
D) Cargusssny &) BrSLLICGETD
A B C D
a) 1 2 3 4
b} 1 2 4 3
<) 2 1 . 4
d) 2 1 4 3
47. Which of the following is known as
Uricotelic?
a) Micro organisms
b) Fishes
¢) Birds
d} None of these
Maﬂds afleunigacr ereur i iBLIeH
pietwgmuiifiser b)) b
c) LIpemeU ST d) @& agnliene
48. Match the following
: . E
A) Protozoa 1). Contractile Vacuols
B) Coelenterata 2) Cell Membarene
C) Platyhelminthes 3) Excretory Tube
D) Analids 4) Nephridia
Glurmhais
A) 1Gun GunGenam 1) *@he GEP
B) Safelwe Guioir 2) Ged sebay
C) st e Lnjop 3) ePley Bhs eppehach
D) auemETSENT Lip 4) Gpofigunr
A B C D
a) 2 1 4 3
b) 1 2 4 3
c) 2 1 3 4
d 1 v 3 4
www.tnpsctricks.com
24 |25 |26 [27 [28 120 130 |31 |32
€ £ D ] ¢ ) c A A
33 | 34 | 35 |3 |37 |38 |39 |40 |41
B c D D B c A A c
47 | a3 | 44 | a5 | a6 | 47 | 48
] c ] D c & D
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49,

50.

52,

53.

54.

-

31.

217U Uewl Gaieysenaanen wglf elanm—ellamL e

SOIPEIH sy ueflwrent Caraunenemmud (1qstemIeed]) BLSgitb

1 SCIEN UESTION:
When anaerobic reaction takes place in
yeast, number of glucose molecule released
is
<9y derllgair S4HD @gpaie
pew_Guipnd afenesrufisy GloveliL@in
GEnsGaran ppevsidn pjsallel T avllsena
a) Grav® b) epeirgy
c) o d) BreS
Number of oxygen released in the following
photosynthesis reaction is
6CO; + 12H20 —» CeéH206 + ___ ? + 6H20

FFellig 61}

8Cyp 2 Giren qafldGeit sena aflemenrafle
Qavefiiii@ oy Sedoeafles sjeray

6C0g + 12H30 — CelaOs + _ . P #
6H20

a) 602 b) 1202

c) Oz d) 202

Choose the wrong regarding self-pollination
a) It takes place in bi-sexual flowers

b) It needs favorable external factors

c) Polans will not be wasted

d) New plant sppcies will not origins

s warhs  Gaidens updu  &pgsefiey
SHaUMITEOT H| 6T %7

a) @uuméd weirsefsy penr GlLigyth

b) umé argewilser =zaf Cpevar

c) WagHS Sren afevwrmsm g

d) YyBw aews ST 2 (HaTET S
Amylin hormone is secreted from

a) Adrenal b) Pituitary

c) Thyroid d) None of the above
entoeder anTiGomener FTUILISG 6157

a) opfere b) ape M

c) OSTTER d) @9 gsulseae

Type of Lymphocyte destroyed by HIV virus
is?

HIV emaugevmer  opfssiiu®n  aluwGurensi (B

avens argg?  WWW.tnpsctricks.com
a) CDy b) CDy4
C) CD; d) CDG

Choose the correct statement
1) Diabetes Mellitus is caused by the

deficiency of Insulin secretion.

2) Diabetes Insipidus- is a metabolic
disorder

Fiflwmen gwpienensd Gsirs

1) @ﬂfnmﬁa'l GO  SELLT® LWL (o6
Gwelr_av Gt Bgmesr myth

2) L e el @erFie_aiv arenreng
LwriHps Geopume @ Gpmis @b,

a) 1w @ub b) 2 w @b

¢) @oewr®b d) @8 agnflvene

Which one of the following is not a

hereditary disease?

a) Down syndrome b) Thalasemia

¢} Sickle cell Anemia d) Marasmus

83 aeremeumier ergy togifwey Gl
Sjevev?

62.

63.

65.

66.

67.

69.

70.

Choose the wrong statement regardjng RBC.

a) Also known as Erythrocytes

b) Disc shaped

c¢) Matured ones having nuclei

d} Haemoglobin is a important
constituent.

TS RevL 11wy Lrpaius N

ST 68l Hi T 7

a) erMaGumensi’ erawayth pjeiphstiL@BLD
b) SL® engeub Gareim g

) BT Sjgmbadr 2.1 a0 Gl GESD
d) afCurgGermiis wps@un's G e

The disease due to Melanin metabolism is

a) Haemophilia

b) Thalassemia ;

) Albinism www.tnpsctricks.com

d) Alzheimer's Syndrome

Qoevrresfar auen it Nend LOT DDEHIT 6D

2.avor @i Gpodi?

a) @fCuomifeunr b) ser&bwm

¢) <eviiefan d) yevebifwir Gmmas
. Which of the following is not matched with

others?

a) Syphilis b) Polio

c¢) Rabies d) AIDS

BQp 2 dreraupfisy whpadSpT® QUITEHHSTS S
T ?

a) Suedeiv b) GumredGuir

c) Goiden d) erinav

Which of the hormone stimulates the
maturation of Graffian follicles?

By i et ureS&Rer (pBT FRIenL_11d
&TgewTiomes  amyriSiomer

a) LH b) FSH

c) ICSH d) TSH

CONIDIA is relates to

a) Algae b) Fossils

c) Fungus d) none of these
Qareaflgum erariign et GlemL iijent w1

a) ST b) wT®

) Uehews d) @Pd g gubiene

Which of the following is called as ‘Stone
Fruit™?

a) Drupe b} Pepo

c) Pome d) Berry

‘mev sall’ aTew gyempphELILIBRIS 6T
a) Lepd b) @ueBum

¢) Guuirid d) @uurdt

. Baleen Plates are present in

a)
<)

Desert Animal b) Aquatic Animal
Tundra Animal d) Hill Animal
ualer si' Maxenerts Glubpieren & o1 5?7
Q) LITenevaes afledig b)) Brenmp allevsis
c) SapsIm aflevns d) wemeveurgp efevmg
Temperature of a normal human being is
FrETyenr wehsen =1 GQearliifeney

a) 984°Fto986°F b) 98.4°Cto98.6°C

€) 32°Fto34°F d) 20°Cto24°C
Choose the correct statement

1) The right half of the heart receives
de oxygenated blood.

2) The left half of the heart receives
oxygenated blood.

giflunren smpilenerd Gpis
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56.

P

58.

59.

61,

Thalasemia
Marasmus
erg gl  Cprds

a) Down syndrome b)
¢) Sickle cell Anemia d)

8Qyp = cireraupen

<afebev?

a) Layeir @enpBpTi !

b) SreRBur www.tnpsctricks.com
c) PaRenr Glasr syeftflunr

d) Logm&LDG

Choose the correct statement

1) In Human body, glycogen is stored in
liver & will be used when need arises

2) Influenza is caused by bacteria
Fhfuires amhievesrs Gsirs

1) wafls 21 f, BeversGanspenr THisTR
Comasars sdwalyeis Gslss @b,

2) @eryenweirer  Gpmis  umdefuman e
2 GRS,

a) 1 @ b) 2w @

) @ueanGib d) @F ggufdme

The composition of Natural gas is mainly

a) Ethane b) Propane

c) Methane d) Butane

@uubens aurujaiiey 2iPsera 2 girer

@iy

a) #&HBzsir b) YGrmriiBuer

¢) BsCzew d) Sy G air

In which cell organelles, oxidation of

Pyruvic acid takes place?

a) Lysosomes b) Ribosome

¢) mitochondria d) Nucleus
amuemalls spfe gysefeBearimid B Gluimyth
Qe T gmmumLIL)

o e yygiod www.tnpsctricks.com
b) MCurBemib

c) oo G mamenrs Mwr

d) 280

Which of the following is incorrect food
chain?

a) Grass —  Grasshopper -+ Frog
b) Grass —  Frog — Bird
c) Grass — Eagle — Snake
d) Grass — Insect — Frog
supTen sama)d Fii@ed 1 ?

a} LfGiJ — G)nu'_@e':ﬁaﬂ — SHeuemern
b) Y& —  Seaemer — LITibLy
C) H& - &G —  umby
d) ys&v — ysBser —  Seuener
. ‘Will or Want’ is propounded by

a) Darwin b) Mental

¢) Lamarck d) Graham

‘Byenanyh eretrentipid’ eTeTLIeNS &niliiat
a) Lrrafler b) Gloesr e

c) ewmomitrd d) Sgamb

Which of the following is used to generate
artificial rain

a) Sodium Iodide

b} Sodium Chloride

c) Pottasium Chloride

d) Pottasium lodide
QEwihens

CauB @i meir

a) Cergwin HBureni @

b) Gemygund @Germeng®

¢) Guri i m@unb gBarmeng®
d) Qumie r@uih CBuiremL B

GOILI L*M&glb

M@&LILJS E&HWn o

7,

72.

73.

74.

75.

76.

71

de oxygenated blood.

2) The left half of the heart receives
oxygenated blood.

Flwirenr smpilenewrd Baits

1) Qow g  oewpsir  NESS JESID
QL1 mi@ett meu

2) @Qsw  @Gs  yeopser  shs  THsD
Gl gy Sew et

a) 1w @i b) 2 w G

o) Quew@in d) @Fé ggnlaemea

first phase of oral polio vaccine for a new

born baby is administered in

s Gpiesss  GurelGur  GQeri @

WEhGl - (IpSHed SHEUCTIGRTILNT & 6T SHSHET

BT sefle) Srcni@in?

a) 30 days b) 15 days

c) 1%tday d) 90 days

Choose the correct statement

1) ELISA is a test for AIDS

2) Amoebiasis is caused by virus

sFiflwres smpienewd Csia

1) erdn’ev QGpreowr ELISA Gongener
fLpeULh Sevart_pNiwevimtd

2) ouBflwurfen Grrulssr srgesf) enaugev

a) 1wl @b b) 2 wi @
¢) @uene d) @8 ggnldoeme
Name the hormone that reabsorbs

sodium, potassium
a) Cartisone b) Aldosterone

c) Glucagon d) Adrenaline
Qamgunb Quimi’ _m@wib Guirepeaunenp
et Qb = Mess 2 saud anTiGomesr

a) @iy Gevrer b) ey Buireiowe gmer

¢) GwsBsTaTes d) o feweler

In a cell division,sub stages of Meiosis-I is
Huredey - 1 Goed (Mfgelehr »eren grmenr
Bewevaeller erciseniléens

a) four b) three

c) five d) two

Type of pollination of Vallisneria is

a) Zoophily b) Orinithophily

¢) Animophily d) Hydrophily
aurelavGrim wegps Gsisams gpeop

a) @iied b) yrehsGamriidied
¢) wefiGuriisived d) emam Gymified
Which of the following is called as
Caryopsis?

a) Banana seed b) Drumstick seed

c) Paddy seed d) None of these
STALTUISE Ter senipdhariLiBal g

a) amepliyp alens b) epERens afleng
¢) Gpevaiamns d) @8 agulfisensy
Which of the blood cells participate in
blood clotting?

a) Erythrocyte b) Thrombocyte

c) Leukocyte d) None of these
755 sepseid unGGUDD EBU T
e

a) efglpmenai b) BomibGurensi.

c) ersGsmens d) @6 ggnidens
NOTE:Correct Answer for the Q.No.24 of 20.10.15 is ‘B’
49 50 51 52 53 54 55 _§§ 57
A A [] D B [ D A [

58 59 60 61 62 63 64 65 66

c £ c D < c A B (-
67 68 63 70 71 72 73 74 75

A B A [ B8 A B A o

761 77 .

c 8 www.tnpsctricks.com
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gm&u L6 Gg,nsq&,@aa&,nsm mnéhﬂsﬁlsmn 6ﬁlsmL&>6n

IOtﬁ SCIENCE ﬁné’rrbns arel] o7, Balance the chenncal equatmn

BGp ecirer FwewLimt 1 ener atoer G,

78. The functional unit of Human Kidney is CaCos +HCl — CaCla + ——Pemme + CO;
a) Neurtl)n_ b) Nephron a) Ca0 b) COOH
¢} Malpighian tube d) Glomerulus ¢) H0 d) CcaCl
weliy ﬂvmf_'y el e 93. The relative number of moles of Hydrogen,
a) Buygmer b) Gpugmsir Oxygen, water are in the ratio of
c) weiifsBureir @Hpe d) @Germioemevein “”.‘-"—“—U&"‘T’ czf,“ﬁgﬂf : B gy @wanier

79. Green Chemistry policy was introduced in Guorévsaficir Ui’ @ afsib
usenw GaPulwey Glamerens ymupsiiBsses R e B 8 o) W S
L pyewr® 2T T2 d) -1:142
a) 1990 b) 1994 ¢} 1999 d) 1995 | 94. Match the following

80. Which of the following is not a storage Type of mixture examples
place of plant wastes? A) Gas in liqguid 1) smog
a) Mitochondria b) Vacuole 2} (I_‘;q“{d in Gas g; él;r 4

: as in gas ou
4} . Fallicg loats 4] Wabured xylem: D) Solidingas  4) Soda drink
grayy  sflepsdr  Grifldg @) misefih T EssS
I SMA_aIens TBSgIbaTL (Beer
a) eoiol” @L_mamevart_fwsr b) anT &g Baumet A) !gn'mg,@su ey 1) Lewas
¢) 2&Bmb Femevser d) WBips ewsFeid B) wrrm,rafklv ot 2) MQA’?

81. Energy obtained from the respiratory €). wrepilch eure)  3) Gumb ]
equation D) esmu@lilev Bewriotd  4) GemLm Limertd
CsH 1206 + 602 — CO3 + 6H20 -----—-Energy A B & D
mn@m’ Baypaien FuosirLime 19 ciring) B B 4 2 1 www.tnpsctricks.cq

B DME jeTay b) 3 4 ] 2
CsHi1206 + 603 — COz + 6Hz0 -—-—-- Energy S e S TR
d) 4 3 2 1
a) 2900) b) 2900K)
c; 29000 J d: 29000 KI 95. Which of the following is not true about Air?

82. Sciatic and Tipial nerves are present in a) A%r ?‘as ﬁ’fed composition
which part of human body? b) Air is a mixture
a) Hands b) Legs c) Liquid air does not have a definite
C} Brain d} Eyes bOi_“ng point

d) The components of air can be
separated by fractional distillation.

sTHE LD SHpiseey Samerg?

a) arpm wrpT e lenesr Glammeter(Reiven s

b) STHH P FwEHQUNITEHLD

¢) [Hiind STH M GO Glars

GOFILITIY & b mib g Sunr BT L jseir
SrenTUiiRiD @) mimeir
a) wefls ensmser b) twefls aTevmer
¢) wefls ppeen d) wefls scrser
83. Choose the correct statement

1) Gravin's Syndrome is caused by Reveveniis: Glaretirig (hdsasm sy

Thyroid's deficiency d) Biws arpiemen (lerew ameney ey sae
2) Thyroxin secreted by Thyroid apswpuiiet AR sseumid.
gifluiren o piflencrd Gt s 96. The method used to separate two

substances based on the difference in the
force of attraction between two substances

a} Chromatography

1) &@Cpafer Cpmil  ewggmii®H &rind
GopuTLiy.& FHUGSDS
2) ewggmi® srind eggréatenes &ysBns

b) Filtration
a) 1wl @b b) 2 i @uo ¢} Sublimation
o) @raneu d) @F¢ ggnldeme d) Distillation
84. Which 'ol' the following is not correct about upny  seurri@h  sewewioule) e drar
Thyroxine Hormone? G a_senen Lifid@td (penp
a) It increase the Metabolism a) B uminy apeop
b) It decrease the body temperature b) augs B

c) It controls blood iodine
d) It controls urine
evgymseler emriGuomenr  LHBL  sppsaf |
SUDTEN G 61517

a) eweniFeng LWITHDGES 2t s 5T
b) 2te Qeninigens @epsRns

c) UHESHD Cumigem erenar

C) UIBRISLOT SV
d) auremev @iy ket
97. Choose the correct statement
1} No chemical change occurs between :
Zinc Sulphate with Copper
2) Chemical change occurs between"
Copper Sulphate with Zinc

www.tnpsctricks.com

S QUIBSHSRD S : y g
d) Pmbi Gundems s GUURSHRDS] oiliegiok: Spyocends Ggiie
85. The shape of Salmonella Typhi is 1) gGibspres sOlul sriut =1L 6 aps

aflenesr wrhph THLGSST .
- 1 N STEnHT IR SIREETEEER 1  aSenesr L

[ a) Cylindrical b} Round
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-y R TN TRip N

bl i Ll L L )

d) Bgubi Gurdens s_GUUBSSINDS! |
85. The shape of Salmonella Typhi is

a) Cylindrical b) Round
c) Stick d) Spherical
smreGuorQensvenr ent 1T Limdiefum angaib
a) 2 (pemer b) et b
¢) G4 d) Gamerid

86. Respiratory Organ of Amoeba 98.
a) Lungs b) Pseudopodia
¢} Skin d) Cell membrane
Syburalisir seurs = gy
a) memgaiyed - b)) GumeSardiser 99.
c) Garev d) Qe sdmy

87.Choose the odd one out
a) Lymphocyte  b) Monocyte
c¢) Erythrocyte d) Basophil
BCy = araveuiiss QuITMhbSTES THI7
a) SOGLirensl b) GurGearmenst
o) efglgmenar.  d) GuGsmied

88.Which of the metal not reach with water?
a) Magnesium b) Potassium
c) Sodium d) Calcium

BCp =areraunfict ergy By o allewew Lyflumrg

» Gevrath gy@tb?

a) QuodefPuwib b) @uirt e nBuub

c) Gafrrq.u.th d) & Fluub
89.Choose the correct statement

1) Gallium is a metal. It has a melting

point of 29.8°C

2) Magnesium is similar to sodium

aifwimres  aapienend Goirs

1) @reSund gi 2 Cerain. Fsedr 205G Henev

29.8°C
2) GudelPugBen LstrLyser Gamgiidsn o
Sdhieiren 3.
a) 1w @ub b) 2 wBub %
) @oeaGub d) @B ggneene

90.Which of the following statement is not
correct about Neutron?
a) Neutrons are particles with no charge
b) Mass of Neutron is higher than Proton
c) Neutron is also regarded as sub-atomic
particles
d) Neutron is absent in hydrogen atom
Bay” prewr unBu sppeailss sapreng as! X
a) Bupy prer (Berseniowpp Sl
b) Buy gmer Beep Y@l nar  Bewpenws
afi. sm@Bged
¢ ﬁg_;mdr SygpEiesr LGB Guimmer
HSw
d) ewanLgeer Syevgallss 2. smaie)
Buy grrew (@) s S
91.Choose the wrongly matched
Treatment

a) Iron 59 - Anemia
b) Cobalt 60 - Cancer 4.
c) Phosphorous 32 - Osteo treatment
d) Carbon 11 - Brain scan

sapren Fevemenwd ot
L (¢

8 G_miny Cpris ARdewns m www.tnpsctricks.com
a) @by 59 - [@ués Gsrewa 82 84

100.

eaies o adpass o hetanbaccst _siier sl

1) sssprs slul sTOUT 21 60 ThHS
alever iomppih THLIGHET .

2) @it sGul SISHHTESIN o8 cflenest
THmD THLIBSBID.

a) 1wl @b b) 2w @b

o) Qoo d) @@ o gleveney

The Audible Range of bat is (Hertz)
Qareraureleir Gealwjewri GnHdbas seray (Hz)

a) 20-20,000 b} 900 - 2,00,000

¢) 100-32,000 d) 1000 - 1,50,000
Choose the correctly matched

1) Water waves - Longitudinal waves
2) Sound waves - Transverse waves
3) Water waves -  Transverse waves
4) Sound waves -  Longitudinal waves
aflwrs Qur@msS »drer Fevemeowis Csis
1) Hoewew - Gmpe ewew

2) gl eme - Gpbsame

3) ‘m -GS

4) el geme - Gptle_ewen

a) 1 wigub 2 b) 2 whgus 3

o) 3 wihgud 4 d) 2 whgnib ¢

Choose the correct statement

1) The sound cannot pass through the
vaccum

2) Ultra Violet waves are mechanical
waves

sifluren o pifeness Gsia

1) 969 gyewevacit GQaunit SHe0 LiganT g

2) yp esmT  SBiTS .WQQJ D SOEVEEIT
2@, www.tnpsctricks.com

a) 1wl @b b) 2 @b

o) Quew® d) @ ggnfaeme

9th SCIENCE QUESTIONS

Choose the correct statement.

1) Speed of Light - 340 m/s

2) Unit of Frequency - Hertz

3) Speed of Sound ¥ 3x10* m/s
sflwmes Genewmeniid Gzis

1) seflafds HewsBasmb - 340 bjaf

2) PQacw e -  Ganic e
3) el DensGarsbd - 3 x 10® Bjai
a) 1 wpHgpub 3 b) 2 wi @B
c) 3 b d) -sjewewdgnb

Lowest temperature is

lss@enphs Gailifemey eTeirLig)

a) 0°K b) 273.14°C

c) -273.14K d 373°C

Under the force of gravity the mechanical
energy of a body is

a) zero b) increase

c) constant d) decrease
pitniush afews GorwsbiBaBPermed Guimmeleir
THBY DD

a) @fuirah b) @(Bub

c) " wToTE d) @puub

One Kilo Watt Hour is

e @Geuraur:” . woewfl eTebILIg

a) 6.3x10° god b) 3.6x10° moeb

¢ 3.6x10° god d) 6.3x10° gowd

b) Garumér 60 - ybpGpmi

c) uwmevuge 32 = eTebL) LB SIeND

d) @it 11 - ppener uiay

78 | 79 | 80 | 81 83 85 | 86 |
TTE N T I Y IR YO O G

97 | 88 | 8 |90 |91 |92 |93 |o@a |95

T N R R S TR O )

96 | o7 |98 |99 10|31 |2 |3 |4
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